
SAP ABAP table V_EQUI_S {Generated Table for View}

V_EQUI_S

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

SPRAS [LANG (1)]

DATBI [DATS (8)]

EQLFN [NUMC (3)]

EQASP [LANG (1)]

BEGRU [CHAR (4)]

EQTYP [CHAR (1)]

EQART [CHAR (10)]

GEWEI [UNIT (3)]

WAERS [CUKY (5)]

ELIEF [CHAR (10)]

HERLD [CHAR (3)]

EQSNR [CHAR (18)]

KMATN [CHAR (18)]

MATNR [CHAR (18)]

WERK [CHAR (4)]

LAGER [CHAR (4)]

CHARGE [CHAR (10)]

KUNDE [CHAR (10)]

WARPL [CHAR (12)]

IMRC_POINT [CHAR (12)]

MGANR [CHAR (20)]

ADRNR [CHAR (10)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 V_EQUI_S-ADRNR = ADRC-ADDRNUMBER 
0..N

1

BGMK

MANDT [CLNT (3)]

MGANR [CHAR (20)]

 V_EQUI_S-MGANR = BGMK-MGANR 

0..N

0..N

EQSE

MANDT [CLNT (3)]

EQSNR [CHAR (18)]

 V_EQUI_S-EQSNR = EQSE-EQSNR 

{0,1}

1

IMPTT

MANDT [CLNT (3)]

POINT [CHAR (12)]

 V_EQUI_S-IMRC_POINT = IMPTT-POINT 

0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 V_EQUI_S-KUNDE = KNA1-KUNNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 V_EQUI_S-ELIEF = LFA1-LIFNR 

0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 V_EQUI_S-KMATN = MARA-MATNR 

0..N

1

 V_EQUI_S-MATNR = MARA-MATNR 0..N

0..N

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]
 V_EQUI_S-CHARGE = MCH1-CHARG 0..N

0..N

MPLA

MANDT [CLNT (3)]

WARPL [CHAR (12)]
 V_EQUI_S-WARPL = MPLA-WARPL 0..N

0..N T000

MANDT [CLNT (3)]

 V_EQUI_S-MANDT = T000-MANDT 
0..N1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 V_EQUI_S-LAGER = T001L-LGORT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_EQUI_S-WERK = T001W-WERKS 

0..N

0..N

T002

SPRAS [LANG (1)]

 V_EQUI_S-EQASP = T002-SPRAS 

0..N

1

 V_EQUI_S-SPRAS = T002-SPRAS 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 V_EQUI_S-HERLD = T005-LAND1 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 V_EQUI_S-GEWEI = T006-MSEHI 

0..N

1

T370B

MANDT [CLNT (3)]

BEGRU [CHAR (4)]

 V_EQUI_S-BEGRU = T370B-BEGRU 

0..N

{0,1}

T370K

MANDT [CLNT (3)]

EQART [CHAR (10)]

 V_EQUI_S-EQART = T370K-EQART 

0..N

{0,1}

T370T

MANDT [CLNT (3)]

EQTYP [CHAR (1)]

 V_EQUI_S-EQTYP = T370T-EQTYP 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_EQUI_S-WAERS = TCURC-WAERS 

0..N

1


